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MANAGEMENT ACCOUNTING
Paper—BC-601

Time allowed : 3 Hours Maximum Marks : 80

Note: Attempt five questions in all. Question No. 1 is
compulsory. Attempt any four questions out of

remaining eight questions.
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Compulsory Question ( 3™ 97 )

1. Attempt all questions: 5x4 =20
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(a) What is meant by Cost Reductions?
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(b) What is Responsibility Centre?
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(c) Discuss any four functions of Management

Accounting.
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(d) Explain any four benefits of Performance
Budgeting.
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(e) Give four limitation of absorption

costing.
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2. Define Management Accounting. Discuss its role

and scope. 3+6+6=15
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3. What is Standard Costing. Differentiate it from
budgetary control . 5+10=15
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4. What do you mean by Cost Control? Discuss the
stepsinvolved in Cost Control. 5+10=15
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5. Explain the meaning of Marginal Costing. Discuss

1ts usefulness and limitations. 3+6+6=15
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6. What 1s Budgetary Control and how 1is it
exercised? What precautions should be taken

while preparing the budget? 3+6+6=15
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7. “Responsibility Accounting is an important device

for control.” Discuss. 15
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8. The following information relates a

manufacturing company :

Number of employees : 200

Weekly hours : 40

Standard wage rate : 50 paise per hour
Standard output : 250 units per hour.

During the first week of February, four empolyees
were paid @ 45 paise per hour and two employee
paid @ 55 paise per hour. The rest employees were
paid at standard rates. Idle time is one hour per
employee. Actual output was 10,250 units.

Calculate labour cost variance. 15
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9. Following information 1s available from the
record of acompany :
Year Sales (Rs.) Profit/Loss (Rs.)
I 5,00,000 2,000 (Loss)
II 7,00,000 2,000 (Profit)

Selling price is given Rs. 100 per unit.
Calculate:

(1) Fixed cost

(11)  Break-even pointsin units
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(111) Salein units for desired profit of Rs. 28,000.
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I 5,00,000 2,000 (BT)
I 7,00,000 2,000 ()
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